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Приложение4
Combine each of the following pairs of sentences into one sentence using “enough” with the Infinitive
Model: He is clever. He can answer the question.


    He is clever enough to answer the question.
1.He wasn’t strong. He couldn’t support the man. 2. The sun isn’t very hot. We can’t lie in the sun. 3. The coffee isn’t strong. It won’t keep us awake. 4. I am quite old. I could be your father. 5. You aren’t very old. You can’t understand these things. 6. He was very curious. He opened the letter. 7. You are quite thin. You can wear this dress.

Combine each of the following pairs of sentences into one sentence using “too” with the Infinitive
Model: He is very ill. He can’t work today.


    He is too ill to work today.
1.It is very hot. We can’t run. 2. I am rather old. I can’t wear this dress. 3. He was nervous. He could not speak. 4. I was terrified I could not move. 5. It is very cold. We can’t have a swim. 6. He was very snobbish. He wouldn’t talk to any of us. 7. It was very dark. We couldn’t see him. 8. It was rather cloudy. We couldn’t see the top of the mountain well.
Translate the sentences from Russian into English.
1.Я не настолько хорошо себя чувствую, чтобы встать с постели. 2.Она достаточно хорошо говорит по-английски, чтобы не нуждаться в переводчике. 3. Рано читать тебе такие книги (Ты слишком молод). 4. Я стоял слишком далеко, чтобы слышать, что она говорит. 5. Слишком она молода, чтобы принимать ее всерьез. 6. Вопрос слишком сложен, чтобы на него ответить. 7. Слишком он ленив. Не читал он книги в подлиннике. 8.Задача слишком сложна, чтобы ее уже решили. 9. Ты теперь слишком большая, чтобы играть в куклы.
